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01 224 =H| 7,673,905 8,203,355 Helol HZEES o
FHOIA 240 OE
A SEX Bty
N0l HYEE ,873,626 4,352,813
(J21230%, AlHI135%, £ 5135%)
| , 162,090 1,305,847
Al ,355,768 1,523,483
- , 355,768 1,523,483
1)B0HE~12KH O12lo] IER AR 677,014 707,803
Ol &S (J1230%, Al8I35%, 7 H]35%)
| 203,104 212,341
Al 236,955 247,731
- 236,955 247,731
1)2H3Al CIERAT} S 89,631 84,316
(21230%, AlH135%, £ 8135%)
| 26,889 25,294
Al 31,371 29,511
- 31,371 29,511
NYAR CIE2AUT HEES 35,911 49,385
(I1230%, AlH135%, ++8135%)
J| 10,773 14,815
Al 12,569 17,285
- 12,569 17,285
DHPVIXE @SS Xt 12,260 62,231
(21230%, AlH135%, ++H135%)
| 3,678 18,669
Al 4,291 21,781
- 4,291 21,781
1)HPV OI&E S Xt 76,903 349,083
(21230%, AlH135%, ++H135%)
| 23,071 104,725
Al 26,916 122,179
- 26,916 122,179
NUHZA4 AIER0T} HLEES 2,601,480 2,318,417
(21 230%, AlH135%, 7 8135%)
| 780,444 695,525
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(cHel: AR
< _ - IE| = ) = HIAR
2A -3 . A2(3H) - HRAR - BHES 04| AreH %EE" Hns2 HA(S2) AR S
Al 910,518 811,446
T 910,518 811,446
1024 HEIZ YIS 272,269 258,209
(J1=230%, AlHI35%, 2 HI35%)
2l 81,681 77,463
Al 95,294 90,373
2 95,294 90,373
ARl HEESs 25 24,643 4,801
(J1230%, AlHI35%, 72H135%)
] 7,393 1,439
Al 8,625 1,681
2 8,625 1,681
1)BE2H Z=AD |2 (il BHAF 10, 168 16,297
(21 230%, AlHI35%, 2 HI35%)
Il 3,050 4,839
Al 3,559 5,704
- 3,559 5,704
HLEESEHH =2 27,240 26,780 460 P69
] 8,172 8,034
Al 9,534 9,373
- 9,534 9,373
101 @I 24 H] 27,240 26,780 460 | ONYLEESEME 29
2AIH JHHAL E201
e =z
] 8,172 8,034
Al 9,534 9,373
- 9,534 9,373
04 JIZtHI2Z2RIEES 27,240 26,780 460
NHYBES2MH 2% oA 27,240 26,780
(21 230%, AlHI35%, 2 HI35%)
] 8,172 8,034
Al 9,534 9,373
- 9,534 9,373
oleE s 427,910 379,449 48,461 PEE0~652
101 @I 24 H| 145,766 97,305| 48,461
04 JIZtHI2Z2RIEES 145,766 97,305| 48,461|O22LH9 HLEE Z4H
QIAH| SENRS S
XA0H0 Tt 2|
=
NIZHZ2Z2XH(22LH9 HEES) 143, 162 94,672
Ol 4]
2)oleg 128,260 85,022
2)B8a 14,902 9,650
320z 5,772 3,826
3)HA2E 4,547 2,976
LRI QAL S 583 366
3NEEE 2,245 1,488
ATHEE 1,755 994
NIIHZZ2XHRAZERATEE) Q1A 2.604 2,633
2)oleg 2,332 2,362
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SH B ORI(S) - HRAY - BES | olary Ghe  |umsz|  BHaEMs |
04 JIZHZ22XNSES 22,300 21,065 1,235 OXN At S AL S A
JIARZ22 X 20234
LN MEAZO AN
BN ME ZY
NIE JI2HZE X 21244| 22,300 21,065
(=8150%, AlB115%, L H135%)
2)|12tH22 X oY 17,600 16,800
= 8,800 8,400
Al 2,640 2,520
- 6,160 5,880
2)J12HH22 & odbl 1,855 1,600
= 927 800
Al 278 240
- 650 560
2)J12tH22% B2 2,045 1,865
3)HLEE 624 588
= 312 294
Al 94 88
- 218 206
oI AES 80 69
= 40 34
Al 12 11
- 28 24
)20z EE 792 756
= 396 378
Al 119 113
- 277 265
JNE2E 308 278
= 154 139
Al 46 42
- 108 97
MM EE 241 174
= 121 87
Al 36 26
- 84 61
2) Al TH 800 800
= 400 400
Al 120 120
- 280 280
201 Ler23t| 14,500 15,735 21,235
2 7250 7,868
Al 2,175 2,360
2 5075 5,507
01 AtR22ld] 5,500 2,735 2,765|OLEZMHg 2 HHuLE2
NS e 2Z2E 24|
N
O89H & ARFE &G
oA
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M- EH.BE) - AR - Bas | oae | GRS | s BE(S2)AR
NEEHEZZ2OS 2 22 1,560 800
(2HI50%, AlHI15%, 72H135%)

= 780 400
Al 234 120
- 546 280
g, Zojpgoz ) 2% 2
g8 =23 1,400 1,000
(2H150%, AIHI15%, 72H135%)
= 700 500
Al 210 150
- 490 350
1) SSAUZTAIY 012 DS
(2H150%, AlH115%, 7H135%) 240 0
= 120
Al 36
- 84
NAIGALRX D=
(2HI50%, AlHI15%, 2HI35%) 300 240
= 150 120
Al 45 3%
=] 105 84
NEH S ALAN EHaxg 2,000 0
(2HI50%, AlH115%, 72H135%)
= 1,000
Al 300
- 700
03 BAL2H 9,000 13,000 A4,000 | O THEHTE 28 RN [ 204
DHEZ2 02 2AI2 3,000 5,000
(=HI50%, AlHI15%, 7+H|35%)
= 1,500 2,500
Al 450 750
=] 1,050 1,750
DENHSIZ O LA
(2HI50%, AlH[15%, 72H135%) 3,000 5,000
= 1,500 2,500
Al 450 750
- 1,050 1,750
NZR2I W2t 3,000 3,000
(=HI150%, AlHI15%, 72HI35%)
= 1,500 1,500
Al 450 450
2 1,050 1,050
203 PR E | 2,000 2,000 0
= 1,000 1,000
Al 300 300
- 700 700
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[k
40

L= =AY
S - B E9I(3) - NRA - BAS | oy e s2 | maEzaNs | MR
03 AIF=XHSFAIY| 2,000 2,000 0
NHEEHM 2 600 600
(:‘H|50%,/\|H|15%,—_rll:|l35%)
300 300
90 0
210 210
1) 2Heg 600 600
(=H150%, AlH]15%, 7+ B8135%)
300 300
90 0
210 210
NHELRFA MR350 S 800 800
(=H150%, Al5115%, =+ 8135%)
400 400
120 120
280 280
307 212t01 & 4,000 4,000 0
2,000 2,000
600 600
1.400 1.400
01 z¥=Hl 4,000 4,000 0
NAZA2E, FAMUE S 4,000 4,000
(=H150%, Al 15%, =+H135%)
2,000 2,000
600 600
1,400 1.400
Yo BARNL 2 116,038 116,859 AB21 p6b3~650
40,000 40,000
76.038 76.859
101 2124 HI 31,238 31,559 A321
04 J1ZtMZ22 S E+ 31,238 31,559 A321
DIIEHM22 X 21248 (S Af) 31,238 31,599
2)21244| 27,984 28,341
2)EEZ 3,254 3,218
3)=ol=z 1,260 1,276
J)=RUALEE 993 992
JNEAINAUES 128 122
JNELEE 490 496
AL S 383 332
201 LBt FH| 73,800 73,800 0
29,000 29,000
44,800 44,800
01 AtS 22|l 9,400 9,400 0
NAZHEE 2¢ 9,400 9,400
ONREE L SHULEE 2,400 2,400
2NE2E EBES 7,000 7.000
7,000 7,000
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HEE

- Z . CR(S]H]) - MIRAR - BAS 0] Akt Gl kol Hns2
NHEET L E22 FH| 14,000 13,000
(AIEI75%, 2H125%)
Al 10,500 9,750
- 3,500 3,250
1) II=HI(AIHI75%, 2H[25%) 1,000 1,000
Al 750 750
T 250 250
1)MEQIE K| 350 350
(AIBI75%, 2H125%)
Al 263 263
2 87 87
02 2229 3% 3% 0
1)CI0IE SA A2 396 396
(AlBI75%, 7HI25%)
Al 297 297
T 99 99
203 P2 =& 1,000 1,000 0
Al 750 750
- 250 250
03 Al =X A2 =X 1,000 1,000 0
NANSHO ALSEANEIA 2= 1,000 1,000
2HES] (AIBI75%, 7111 25%)
Al 750 750
2 250 250
301 L2 AZ 21,000 30,000 A9,000
Al 15,750 22,500
2 5,250 7,500
14 J|EtE A2 21,000 30,000 A9,000
1)IHE |2 HHIA g2t 15,400 22,000
(AlBI75%, 7HI25%)
Al 11,550 16,500
- 3,850 5,500
1)24SAISE ¢240t 2,800 4,000
(AIBI75%, THI25%)
Al 2,100 3,000
T 700 1,000
1)THEROI 2 MHIA FIAIA 2Dt 2,800 4,000
(AIHI75%, 72 H125%)
Al 2,100 3,000
+ 700 1,000
307 @12+l & 20,000 20,000 0
Al 15,000 15,000
- 5,000 5,000
012223124 20,000 20,000 0
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- _ - PSE] = KiEAL
2AM -3 . H2(3H) - MRAIEY - BES 04| AroH 01|¢+°EH Hns2 SeiA
1NOBADE U AAUYXE] S 19,000 19,000
(AIHI75%, 2H125%)
Al 14,250 14,250
T+ 4,750 4,750
1)RI2IRZ2X AlR2 1,000 1,000
(AIHI75%, 2H125%)
Al 750 750
2 250 250
TZ2LHY Al (EES AlAl 3,606,766 9,887,927| ~6,281,161 PB64~665
=2 1,082,04 3,955, 171
Al 1,262,336 2,966,378
T 1,262,336 2,966,378
307 212401 A 3,606,766 9,887,927 | 26,281,161
2 1,082,094 3,955, 171
Al 1,262,336 2,966,378
T 1,262,336 2,966,378
01 22 L R2H| 3,606,766 9,887,927 | ~6,281,161|O22LH9 WAl HEE
220 2 BX2
FLHAl 24
ND2LHY9 Al OIHES AlAl 3,606,766
(=HI30%, AlHI35%, HI35%)
2 1,082,094 3,955, 171
Al 1,262,336 2,966,378
2 1,262,336 2,966,378
8HA 29X 967,659 848,383 119,276
Al 29 15,800 33,800 A 18,000 OXHAHFSH] DIEA pBB6~667
201 22| 15,800 13,800 2,000
01 AFR22t2/H] 15,800 13,800 2,000 ORZEY 22 =
OoHo @& AR EH
=
1) Yt 2H| 14,600 12,600
2)RIAl AR 600 600
)AL ALS 6,400 6.400
2)2AUE DI/AMA L ADE 4,800 2,800
2)RI Al BH 2| 400 400
2)IEZRAIAE ST 2,400 2,400
1)gIAl Xeag=e a9 1,200 1,200
AL 22 800, 105 674,397 125,708 pBG3~670
201 Lt Y| 629, 105 517,397 111,708
01 AFR22t2IHI 137,925 105, 117 32,808 O22LH19 A2
DAL B ¥
AQE CIMNSOR
oI5 29H| ZH
NAZHSE 7 25,285 18,757
)AL MYDIEE R 5,760 4,032
)l AAl APIEE 9,600 7,200
2)EDA - D HA ABE 4,800 3,600
2)8%0 2A2=2E 1,120 1,120
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(29l Hgl
A - EHY . O9I(B) - NRAY - BAS | oflake Sae | umsz S
401 AlEHIZL 048I 120,000 100,000 20,000
01 Al &l 120,000 100,000 20,000
1NEA A2 120,000 100,000
2)3A R4 EZ2H| 50,000 100,000
2)BHA 1S W] WAl 30,000 0
)84 45 &S WX 40,000 0
405 RH&kHE S HI 15,000 15,000 0
01 AR EEF =HI 15,000 15,000 0
1)t 2 EH|P2e Z2H| 15,000 15,000
ek 2tel 37,990 36,310 1,680 P67 1~672
201 L2l 37,990 36,310 1,680
02 E32ZHl 37,990 36,310 1,680 02
2 UHE2 Qs
NHERAH SH
OgAdErZ L,
NE0DINY S0 S
g ARFEI
IDEE=2=IN]s] 35,400 34,200
2)H 2| 24,000 25,800
)M & AAHI 6,000 4,800
2) Xt ==2ldl 5,400 3,600
2222 L MAl 2,590 2,110
2) RS XA 1,330 1,080
2) XS X A 950 750
2)BAMERLZ(NSK) 310 310
SHMHMH|A =F SHA 113.764 103.876 9.888 p6/3-674
203 1S F=&IH| 11.200 11.200 0
03 A B =X H R F=EH| 11,200 11,200 0
NEAHIXN A LREXY| 4,100 4,100
1NEAL ANMFEXHRFZXY 4,700 4,700
1NEAL oA ME S =AY 2,400 2,400
204 22 AH| 84.000 78.000 6.000
03 EZHFZHI 84,000 78,000 6,000| OLEHA o1& S0l
e E34=2 2l
s
1) (401 & = b 84.000 78.000
301 UBtSEF 18.564 14.676 3.888
VA =RLIAEBLS 18,564 14,676 3,888| 02023& AL2ISRR3
SS)IEY 4522
olst S
1NE2 12,000 8,114
1) 24 5,544 5,544
1) WS 687 687
DI =H| 333 331
g2Y olgate 1,122,577 1,786,572 ~663,995
3,385 400.794
99,032 101.032
86,417 417,186
933,743 867,560
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ol

RISAR
3N

al
=

I RS2 A

=
=)

oo

0

10,089

10,089 | Odf

1,854

225
6,600
9,135
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(22l:

A - B S2(3]) - HFA il &t She |wmsz|  BaEG S
TZ2LH9 HI 4SS HRE 2 690, 462 459,921 230,541 p678~679
101 el44| 455,512 184,081 271,431
04 J12tMZ22NHSE+ 455,512 184,081 271,431|OZ22LH9 iS¢l
OIXI0 e +
DNI2ZHZ2 X 1| 455,512 184,081
(BE A WM 2R
2)0182¢ 408,100 165,319
2)EEZ 47,412 18,762
3)=ol=z 18,365 7,440
JNAHLEE 14,468 5,787
NEIAYBE 1,854 710
JNELEE 7,142 2,894
J)MTHE S 5,583 1,931
201 L2l 231,350 269,140 237,790
01 At22t2/ | 230,000 265,900 A 35,9001 OZZLH9 X0l E
DZLH9 TS | 2o
1)22LH9 8 Xt 015l 200,000 0 O 20223 NI=T LH9 2 X}
OIS RI& (47, OOO’S%J
20234 2ZLH9 b et
29 NEAY U 2II12 B4
NI2ZZUH19 s 28 7 30,000 200,400
2)USFAUANE zE2a4TdASH 9,000 45,000
)UGFANL =5 7,800 0
2)ZEF AL OtA 3,200 16,000
2)UGAFAUANL H2, HS 10,000 0
02 25234l 1,350 3,240 21,890 O22LH9 HIA
Slds A8 my)
1)22LH9 Bl A0 = et 1,350 3,240
SHMS MES
203 2R F=&ld| 3,600 1,700 1,900
03 AIHF=X AL =Y 3,600 1,700 1,900 OZZLH9 BlA = o
B z
NDZLH9 HISSAHEB 2 3,600 1,700
2 = I H|
OllOI= Ol g 2tel 162,064 162,064 0 p630~681
| 81,032 81,032
Al 81,032 81,032
203 ZRF=&ld| 1,500 1,500 0
J| 750 750
Al 750 750
03 A B =X H R =8| 1,500 1,500 0
NooI=2Eel S22 g2F 1,500 1,500
(I1250%, AlHI50%)
| 750 750
Al 750 750
307 g12tol & 160, 564 160,564 0
| 80,282 80,282
Al 80,282 80,282
01 ==l 160, 564 160,564 0
ool=2gel Myl 160, 564 160,564
(J1250%, AlHI50%)
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(22l:

[k
40

- = - PSS - =
SN - T - GRI(SIH) - NRAY - BAES ooy | SES (Hmz BA(S2)AR P
=/

Jl 80,282 80,282
Al 80,282 80,282

2 HEZAQST12 2| 6,770 6,770 0 pe82~633
= 3,35 3,385
Al 3,385 3,385
203 PR =2l 650 650 0
= 325 325
Al 325 325
03 AR =X YH 2 A 650 650 0

NESZAA2I12 2E35 L 2FNY| 650 650
|

= 325 325
Al 325 325
307 212tol & 6,120 6,120 0
= 3,060 3,060
Al 3,060 3,060
02 QIZtH A A E X 6,120 6,120 0
NE2ZAd=2I2 B 6,120 6,120
(=H150%, AlHI150%)
= 3,060 3,060

Al 3,060 3,060

SlaEdEd ZAl & olg2te 18,000 20,000( 22,000 po34
JI 18,000 18,000
307 12tol & 18,000 20,000( 42,000
Jl 18,000 18,000
02 QI HAAHEX 18,000 20,000 A2,000(O=4l JtLHAl SE0 OHE 22X
Nos2EdEY Z2ZAMA 22 18,000 18,000

Jl 18,000 18,000

OIOIE A=A 2 XA 2,000 2,000 0 p635

Al 2,000 2,000

201 LEt= & 2,000 2,000 0
Al 2,000 2,000

01 At 2t2ltl 2,000 2,000 0
NZAEE S 22| 2,000 2,000
Al 2,000 2,000

ZEE AL 414,874 379,479 35,395

H

110,295 108,447
Jl 140,912 124,141
Al 93,004 81,934
- 70,663 64,957

Zatizte] 22,750 22,750 0 pes6~687
201 LEt= & 1,950 1,950 0
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(29 &e)
o — — KL= — Al
SN - BB ERI(S) - HRAIY - BAS [ olery She |vms2| BIGEDAR |G
01 At22teld| 320 320 0
NF#LT WKl S 320 320
03 #AH2EHI 1,630 1,630 0
NHAASZHMY SA2EH L 1,630 1,630
g2 F0H S
203 S F&H| 1,300 1,300 0
03 Al F=E A=Y 1,300 1,300 0
NZ@siae| JRFAY| 1,300 1,300
307 2I12+0| & 19,500 19,500
019 z2d+ZHl 19,500 19,500
)& 0S| 16,523 16,523
1NEYEX IR S 1,027 1,027
NERYLAMAESH & HEH| 1,950 1,950
A Zaag|Ard 281,829 248,282 33,547 p638~689
J| 140,912 124,141
Al 93,004 81,934
2 om0
101 el A | 100,808 104,273 23,465
Il 50,404 52,136
Al 33,267 34,411
3 17,137 17,726
04 1222 NHSE+ 100,808 104,273 A3,465| 02X JHHAl E20I TOHE
J}OH
1)ZHEL2ES AL 2124H| 100,808 104,273
(D1250%, AlHI133%, 7 H117%)
Il 50,404 52,136
Al 33,267 34,411
3 17,137 17,726
201 LBt FH| 4,500 4,500 0
| 2,250 2,250
Al 1,485 1,485
. 765 765
01 AtS 22|l 3,000 3,000 0
N 2888 2 3,000 3,000
(21 250%., AlB133%, 8117%)
| 1,500 1,500
Al 990 990
= 510 510
03 A2 FHI 1,500 1,500 0
NZUY NS 2AH & 1,500 1,500
SHALZ G HI
(21 250%., AlB133%, 8117%)
| 750 750
Al 495 495
= 255 255
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= dEE = = RISAK
A - ZH - H(31H) - MRAY - BES Off &k 4 ojaron | HIRS (SR P
307 QI2+0IH 159, 106 119,509 39,597
Jl 79,551 59,755
Al 52,506 39,438
T 27,049 20,316
01 2L ZH] 159,106 119,509  39,597| O2ZX3 JHUHAl S20I T2
Z=OH
NYAHY AT X 11,336 9,927
(J1350%, AlH133%, 7 HI17%)
J 5,667 4,963
A 3,742 3,276
. 1,927 1,688
NEAL ZeisX} A L AN 24,533 30,829
(21250%, AlHI33%, 7 HI17%)
ol 12,266 15,414
Al 8,09 10,174
47 5,241
NZMASIZAL S 20,692 20,728
(71350%, AlHI133%, 7 H117%)
Jl 10,346 10,365
A 6,828 6.840
T 3,518 3,523
NHANE 23 o F=BHAX 79,251 58,025
(J1350%, AlHI33%, 751 17%)
Jl 39,625 29,013
Al 26,153 19,148
T 13,473 9.864
NESAE SAL F=Zs2y AN 23,294 0 Ol=sl Hds 24
(71350%, AlHI33%, H117%)
o 11,647
A 7,687
T 3,960
308 XXM S0I& 17,415 20,000 A2,585
J 8,707 10,000
A 5,746 6.600
T 2,92 3,400
1B 2SOItHSHE AN P E AL 17,415 20,000 A2,585[02X3 JHUHAl S20 T2
2o
NIIEFEX ATHIXE S 17,415 20,000
(71350%, AlHI33%, H117%)
o 8,707 10,000
AN 5,746 6.600
T 2,962 3,400
o2l ZHEN 2K 110,295 108,447 1,848 P60
= 110,295 108,447
307 2I2tol & 110,295 108,447 1,848
2 110,295 108,447
02 UAAMALEE 110,295 108,447 1,848| 022 JIHA S20I 2
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SA - B ORI(B) - MIRAIR - BAS | oo Soe |wmsz|  BaEhAs | eh
1)t Zaae|23| 110,295 108, 447
(=261100%)
= 110,295 108,447
HI(EASA D) 17,023,296| 15,830,908 1,192,388
69, 108 33,990
23,188 20,224
734,754 718,147
16,196,246 | 15,058,547
A2 H 16,650,454 15,451,787 1,198,667
69,108 33,990
23,188 20,224
734,754 718,147
15,823,404 | 14,679,426
oleE2d 16,059,310| 14,994,166| 1,065, 144
561,520 577,414
15,497,790| 14,396,528
101 el A | 12,643,966| 11,842,851 801,115
Al 538,932 556,983
- 12,105,034| 11,270,207
012 9,882,001 9,099,944 782,057 | 0218l &%
(0 TH, US4AE Y 5)
nizEz 6.290,858| 5,756,735
2)HEH 439,970 412,929
3)4= 99,755 93,618
3)5=2 340,215 319,311
2) B 5,850,888| 5,343,806
3)6= 2,311,092 2,169,601
7= 1,621,048| 1,707,072
3)8= 1,324,754 1,013,928
Al 403,526 427,500
= 021,008 586,428
3)9= 593,994 453,205
nNaoi=g 622,252 579,025
N R e = 95,955 87,639
2)82xY 438,817 400,786
2)8 2 ==Y 3 87,480 90,600
3)25E 0] & 42,120 46,800
3)20H0l 4 254 0] 2F 10,560 11,880
3)15H014 2040/ 2* 12,480 11,520
3)10= 014 1502t 7,920 7,200
3)5E 014k 10 0(BH 14,400 13,200
DNIHAHBE S 218,940 208,860
2)I52¢ 127,140 122,460
3) Ui 2 Xt 54,768 52,752
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RISAR
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Klo

als]
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ol

19,058 O

HAT
Ofl &K

703,524
59,735
78,845
27,729
11,700
11,700

5,040
6,120
540

141,612

141,612

139,212

2,400

127,733

1,315,234
989, 140

25,200
19,849
933,346
109,680
54,332

1,427,673

23,561

ol &t

158,679
63,664
134,644
29,920
10,920
10,920
4,704
5,712
504
141,612
141,612
139,212
2,400
125,337

583,680

2,761,965| 2,742,907
970,587

1,291,453

23,520
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1,470,512
983,921
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- E191(312) - HIA oy | ZESE |Hms2 |  BIEDIAR
3)ounH(HLS 52,026 26,127
26,013 13,064
26,013 13,063
3) A HLSE(0IS-4AI12E 3 40,939 41,857
20,470 20,778
20,469 20,779
3) o (EEE 48,162 0
2)dneis 91,592 85,285
NS 31,107 27,291
3ASE2 36,291 30,703
3)BS= 24,194 27,291
2B 63,600 62,400
3= 44,400 43,200
3,840 3,874
40,560 38,720
J)FoIFASL 19,200 19,200
SR 49,789 48,347
)= 3,926 3,926
3)0= 45,863 44,421
5,847 5,219
40,016 38,557
)S+gRsg 24,864 15,120
a2 24,864 15,120
840 979
24,024 13,931
=M= 148,223 177,444
o= 11,281 11,994
3)0= 136,942 165,450
17,984 16,381
118,958 147,188
=R =] 62,160 60,480
7,560 7,274
54,600 52,366
2) A tE A 19,745 18,730
1,915 1,826
17,830 16,700
2)NSEERES 26,618 24,841
2,019 2,449
24,599 22,098
204 HPHHY| 436,058 406,950
6,067 5,614
429,991 400,574
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SA - B O9I(S) - HIRAY - BE= | ol She  |HDs2|  BIGEDAR S
02 HZ 2L 436,058 406,950 29,108 OQlHl &%
(ol X%, XZEXH| ©Ih A4
Bl 5)
DESE==EN] 436,058 406,950
2)4= 4,800 4,800
2)5= 12,000 12,000
2)6= 92,400 85,140
2)7= 83,160 91,140
2)8~92 133,920 104,400
2)2IIH 52 (2IAH) 33,600 43,200
2)UIIH 62 (2IAH) 6,000 0
2)UIIN 72(2=01=) 2,100 1,980
2)2IIH 9= (2 20|=, #H) 7,440 5,220
2)NZTEERRILDIM(CHS) 3,675 3,465
2)ANZHEE R LD M (OF=) 56,963 51,765
Al 6,067 5,614
- 50,896 45,389
304 H==REH=S 2,979,286 2,744,365 234,921
Al 16,521 14,817
-+ 2,962,765 2,725,747
01 HaRE3 2,455,157 2,258,055 197,102 Ot S0l @
gasca s
noazegz 2,455,157 2,258,055
2)¢a282d2 1,179,551 1,113,842
Al 6,836 6,238
- 1,172,715 1,106,000
2)BH3 953,732 615,460
Al 5,527 3,447
- 948,205 611,126
Qe X YRz 296,579 407,456
Al 1,720 2,281
- 294,859 404,588
)Mo BEARES 25,295 22,649
Al 148 128
- 25,147 22,488
02 SUHLEEHZ 524,129 486,310 37,819 OQAbl t0 WE
AYPERYT B
NALBEREZ S 524,129 486,310
2)HLEEREH S 464,612 433,161
Al 2,032 2,426
- 462,580 430,115
2)AIQUYEE = 59,517 53,149
Al 258 297
3 59,05 52,782
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(29l Hgl
A - B O9|(31) - HRAKY - BaS oierer | SEE (mms2|  BAEDMR | s
olE2gd|(Aaa 29) 223,616 215,593 8,023 p697~638
101 el A | 198,561 191,940 6,621
03 BRA(RIHY) 22N E+ 198,561 191,940 6,621|O32H 3= A50l IE
oI2H| Fo
1NEREXolz oIy 198,561 191,940
2123 143,304 139,903
2)YE SOty 11,822 11,659
2)ZU2RLY 11,134 10,293
)52y 17,814 16,468
)R/ g 9,897 9,027
2)I52¢ 4,320 4,320
2)HE, 22XelY J1E =yl 270 270
304 H3RE3S 25,055 23,653 1,402
04 SR (RINAHY) 22N BEHERES S 25,055 23,653 O3%4 ot it e
CEECIEE IR
NERE(RINAHY) 22N BE2RL3 S 25,055 23,653
2)=0lg gz 8,936 8,626
2)=RUAHLBEHELHS 7,039 6,709
) QUYBE = 902 807
) NELEREZ 3,475 3,355
2N EE RS2 2,717 2,239
2)REBAS 1,986 1,917
QIARHEH(XFAISIZATE) 102,221 67,980 34,241 pe9~701
= 51,108 33,990
Al 15,333 10,197
-+ 35,780 23,793
101 el | 97,100 63,578 33,522
= 48,549 31,789
Al 14,566 9,537
-+ 33,985 22,252
02 JIEt A E = 97,100 63,578 33,622 OBA2 JtUAl B
NXSDAIS SATHE olAHH| 97,100 63,578
(=2H150%, AlB115%, 7+ 8135%)
LUNEAZS =D =10 72,339 47,196
(=H150%. AlH115%, =2 H5135%)
= 36,169 23,598
Al 10,851 7,079
-+ 25,319 16,519
2)I52¢ 360 480
(=H150%, Al5115%, =+ 8135%)
= 180 240
Al 54 72
- 126 168
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A - B O9|(31) - HRAKY - BaS oy | S8E  lwms | BAGEMR | s
2) =2 R4S (=2HI50%, Al5115%, 7H135%) 11,738 7,570
= 5,869 3,785
Al 1,761 1,136
- 4,108 2,649
2)HI A2 R4S =2HI50%, AlB115%, 72H135%) 1,260 840
= 630 420
Al 189 126
- 441 294
2)HHSAHI(28150%, AlH115%, 78135%) 5,040 3,360
= 2,520 1,680
Al 756 504
- 1,764 1,176
2) AL B A (=H150%, AlH115%, 72H135%) 1,39 948
= 699 474
Al 210 143
- 490 331
2) S PLEH(=HI50%, AlHI15%, 7H135%) 3,866 2,577
= 1,933 1,289
Al 580 387
- 1,353 901
2) NEBEHEEZ(=H150%, Ald115%, 78135%) 1,098 607
= 549 303
Al 165 0
- 384 214
204 2L AH| 4,883 2,310 2,573
= 2,441 1,155
Al 732 347
- 1,710 808
02 g 2Ll 4,883 2,310 2,573| OBZ3 JHHAl B
DAIZHEERILIIN Or= 4,883 2,310
(=8150%, AlH115%, 2H135%)
= 2,441 1,155
Al 732 347
- 1,710 808
304 A2 RESS 238 2,092 A1,854
= 118 1,046
Al 35 313
- 85 733
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- = - PSS - =
SA - SAEN) - HRAY - Ba2 | oae | DEE wDs B (52 A g
01 A3 REZ2 188 1,747] A1,559| 0223 JHHAl 2
Nezaeg2 188 1,747
(=8150%, AlH115%, L H5135%)
Q)3 RE3 90 900
(=H150%, Al 15%, ++H135%)
= 45 450
Al 13 135
T 32 315
2)B&2 73 498
(=H150%, Al 15%, 7+H135%)
= 37 249
Al " 75
- 25 174
2Q)EI XL R2YS 23 330
(= 8150%, AlH115%, L 8135%)
= M 165
Al 4 50
- 8 115
)Ml ARE2 2 19
(=8150%, AlH115%, £ 8135%)
= 1 10
- 1 7
02 2ALEE=S 50 345 A295|OBEZ JHHAl 2
1)HAEEZ 50 345
(= 8150%, AlH115%, L H135%)
2)HABERHEZ 45 307
(=8150%, AlH115%, L 8135%)
= 22 153
Al 6 46
- 17 108
2)BIYBER 5 38
(=H150%, Al5115%, 72 H135%)
= 2 19
Al 1 5
- 2 14
QIFRYHI(MSHNH AL=SSAHIL) 182,931 174,048 8,883 p/02~703
Al 137,198 130536
2 45,733 43513
101 el d| 151,552 145,898 5,654
Al 113,663 109,434
2 7889 36,464
02 JIEtA 2= 151,552 145,898 5,654| 0223 Al Z
NMSHN HBSSHUIA olAdd| 151,552 145,898
(AlBI75%, 7 H125%)
2)=20 111,870 103,941
Al 83,902 77,965
-+ 27,968 25,976
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- - _ bSIE| _
2A -3 . A2(3H) - NFAE - BAES 04| AroH OTEOE# Hns2 HA(S2) AR
2) =L 1,544 4,800
Al 1,159 3,600
T 385 1,200
2)Z2RaY 15,651 14,952
Al 11,737 11,214
T 3,914 3,738
2)HIA2RLY 1,680 1,680
Al 1,260 1,260
T 420 420
2)HMZAIH| 6,720 6,720
Al 5,040 5,040
T 1,680 1,680
2) DB A| 2,208 2,057
Al 1,656 1,543
T 552 514
2)=ZH0iH| 4,800 4,800
Al 3,600 3,600
T 1,200 1,200
2)SEx224Y 5,154 5,154
Al 3,865 3,866
T 1,289 1,288
)negssaga 1,925 1,794
Al 1,444 1,346
- 431 448
204 R AH| 6,510 6,090 420
Al 4,883 4,568
- 1,627 1,522
02 228 XH| 6,510 6,090 420 OBZXZ2 JHUHAl ZH
DAIZFSER R M OFS 6,090
(AIHI75%, 2 H125%) 6,510
Al 4,883 4,568
- 1,627 1,522
304 HSRE2ES 24,869 22,060 2,809
Al 18,652 16,534
2 6,217 5,526
01 3g= 19,192 16,012 3,180| OBXZ2 JtHAl ZH
Ny 19,192 16,012
(AIBI75%, 2 H125%)
Al 14,394 11,999
2 4,798 4,013
02 zUALEES 5,677 6,048 ASTIOEES JHUAl 2
1) HLSBE2(AIHI75%, 7H125%) 5,677 6,048
Al 4,258 4,535
2 1,419 1,513
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[k
40

(22l:

% = T & - AR
SA - CRAEN) - HRAY - B | oae | S8R HDs B (SZAR P
AR AH|(XIDAISI SEHLBEIAY) 36,000 36,000 OY%n NEASISEHL SN p/04~705
(BYEHA)ZHZ(36,0082)S
g4C By
= 18,000
Al 5,400
- 12,600
101 el | 34,372 34,372
= 17,186
Al 5,156
- 12,030
02 JIEtR 2 34,372 34,372
DEES 34,372
2)=20i 25,577
(=8150%, AlGI15%, —UHI135%)
= 12,788
Al 3,837
- 8,952
2 E+¢ 720
(=8150%, AlGI15%, —UHI135%)
= 360
Al 108
- 252
Q)XW 2RE 3,913
(=H150%, AldI15%, THI35%)
= 1,957
Al 587
- 1,369
2)ZHZ Al 1,680
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NHASE R0t HAAE I 10,000 11,000{  A1,000
(J1250%, AlH125%, 1H125%)
J| 5,000
Al 2,500
- 2,500
NASE K0 LR FUZAH X 11,544 12,192 AB48| OLHAIH BrA 0l 2 (733-734
9] 5,772 6,096 ER
Al 2,886 3,048
- 2,886 3,048
307 QIZH0|A 11,544 12,192 N648
J| 5,772
Al 2,886
= 2,886
01 9247 2H| 11,544 12,192 N648
NNASS AQOILSLEOH HUAAHIXI 11,544 12,192 1648
(J1250%, AlH125%, H125%)
J| 5,772
Al 2,886
= 2,886
LHISIEs A|SH| X9 (MEHALY) 1,143,108 752,357 390,751 OFUESE BALAI 735-736
=] 400,088 263,325 175]— 22 2H
307 212+0|& 1,143,108 752,357 390,751 21812 XI& &It
Al 743,020
- 400,088
01 22 n2H| 1,143,108 752,357 390,751
1)HURS Alzt] X2 (AlIHI65%, HI35%) 1,143,108 752,357 390,751
Al 743,020
= 400,088
NS8 Hes Al&H| X8 106,772 97,542 9,230[ OFES EHLHA| 737
Al 106.772 BrAO) 2 =
307 eIZH0IA 106,772 97,542 9,230
Al 106,772
01 g2 2| 106,772 97,542 9,230
NMSE L2 AlSH| I (AlHI100%) 106,772 97,542 9,230
Al 106,772
HE2REAHSE HE 998 1,066 AB8[ OLHAI B0l [+ [ 738-739
D OH
bl 300 320 -
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SN - B - S9(3H) - NRAY - BES

MEE

g

BY(E2) A=

Of| &toH Ho A
A 349 373 OLAIRY sl o 738-739
- 349 373
308 AIXISHHIS0I& 998 1,066 68
p] 300
Al 349
- 349
11 2SR A R SIE A ] 998 1,066 68
NEZ2UEAHEE M= 998 1,066 B8
(21230%, AlH135%, 72H135%)
p] 300
Al 349
- 349
HAEND O|2H| X 3,600 3,600 0 740741
] 1,800 1,800
Al 900 900
2 900 900
308 XX SHHIE0IH 3,600 3,600 0
p] 1,800
Al 900
- 900
11 2SR AR SE A ] 3,600 3,600 0
NHAEHAD o|2H| X2 3,600 3,600
(21350%, AlHI25%, 2H125%)
p] 1,800
Al 900
- 900
DB O|FH| X 69,480 76,046 26,566 OLHAIY B = F7ET)
bl 20,844 Bl
Al 24,318
- 24,318
307 2I2H0I& 69,480 76,046 26,566
] 20,844 22,814
Al 24,318 26,616
T 24,318 26,616
01 2L & 69,480 76,046| 26,566
)9l o2 X 69,480 76,046 16,566
(21330%, AlHI35%, 2HI35%)
p] 20,844
Al 24,318
- 24,318
050t & HEAHO0IA0F 2l2H| X 51,000 130,620] 279,620 OLHAI®  BrH0fl  [H2 | 744745
p] 15,300 39,186 =
OS2 XA
Al 17,850 45,717 2tA 2 2bOH
- 17,850 45,717
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S - "B - SRI(3) - HRAY - BES ol&rey She  (HmsZ| maED) MR | MRS
307 D101 51,000 130,620 ~79.620| OLIAIOl Srsiol  mr=
Il 15,300 e
Al 17,850
= 17,850
NEEEEET 51,000 130,620 ~79.620
1)0I1250H 2 MFA0IA0F 2/2H| X 51,000 130,620 79,620
(J1230%, AlbI35%, 7HI35%)
Il 15,300
Al 17,850
= 17,850
SRSAOIA, ZAF & E0re 66,000 41,971 24,00 OAS  Sr0l (W2 | 746747
Il 19,800 12,591 S
Al 23,100 14,690
- 23,100 14,690
307 21201 A 66,000 41,971 24,009
Il 19,800
Al 23,100
2 23,100
NEEEEED 66,000 41,971 24,009
1) HSHAIOIA 2AF & BHOFRE) 66,000 41,971 24,009
(21330%, AlHI35%, 2HI35%)
Il 19,800
Al 23,100
2 23,100
SHEE UHZN 2 25| Ad 6,800 7.00]  A420|OLA®  Srgol [ | 748749
bl 2,040 e
Al 2,380
2 2,380
307 21201 A 6,800 720 A0
Il 2,040 2,166
Al 2,380 2,527
2 2,380 2,527
NEEEEET 6,800 7.00] A2
NEEE BEAA L PRIINY 6,800 7,220
(21230%, AlHI35%, 2HI35%)
Il 2,040
Al 2,380
= 2,380
XSAEE ABINHIA SXAI 68,000 68,900  A900| OLHAI®E Srgoll W2 | 750751
(YOS RRAHIA) 2toH
[ g} SCtXI
2 W00 34450 Va0l 0 o6 e
Al 17,000 34,450 50%: AI50% Ol A 234
2 17,000 FS50%: Al25%: T25%
— BXZ 22 HiE B
308 XX AISO0I& 68,000 68.900]  A900
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SA - B GR(3) - HRAY - BaS Ol &k She  |HDs2| BaED) MR | AP
= 34,000
Al 17,000
= 17,000
TP EE RN EEENEE 68,000 68,900] 2900
DRIAKSE AFSIMHIASERIAI 68,000 68,900
(HROFLLRIZAHIA)
(ZE50%, AlHI25%, 72H125%)
R 34,000
Al 17,000
= 17,000
HASE JINA 2 ZAES X2 882,000 453,560| 428,431| OREE ABIEAEDR | 752-753
2 264,600 136,071 OEl=2 252 AAHXRI
JoH vloy ol B A
A 308,700 198,749 ORA=TRe DB}
- 308,700 168,749 ok 242 MEIOFR
308 XX S0IA 882,000 453,569| 428,431| oroz X2 olat
- 264,600
Al 308,700
= 308,700
TS EEL R EEENEE 882,000 453,560 428,431
DHASS JINF 2 ZHES UKAY 882,000 453,569| 428,431
(=H130%, AlHI35%, 72H135%)
- 264,600
Al 308,700
= 308,700
N20PI 2% =28 10,500 6,200 4.90|0n=8 XNz 200 | 75475
201 LEr=2 S| 10,500 6,200 4300 OE 3%
01 Al=Z2lt] 7,500 3,200 4,300
YUERE U AlYEYE S 2,000 2,500  A500
DAIRBE o 340t HE S 800 500 300
DR SmET 200 200 0
1)D]E N2(NHE =) 4,000 o 4,000
NCERESI = 500 0 500
02 =229 3,000 3,000 0
1)YU9E EHE AIRR2 2 4214 3,000 3,000 0
DXEAAY Exol| 27,497 27,497 0 756
Il 8,249 8,249
Al 9,624 9,624
2 9,624 9,624
101 01248 27,497 27,497 0
Il 8,249
Al 9,624
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S - ZE - ERA(S) - HRAY - BES Ofl koY %iﬂoﬁ HRs2 | BL(E2) As | AEE
= 9,624
B EEI=T 27,497 27,497 0
12XL2AAI 2F0I2Y| 27,497| 27,497
(J1230%, AlHI35%, 71H135%)
p 8,249
Al 9,624
2 9,624
EXIC 20 NAAL(HEE) 8,190 1,029,506] ~1,021,316| O2F 32SE AI=& | 75/-758
- 2,170 25,000 Rlel) ZR2 2
307 QI2H0I & 8,190 50,000{ 441,810 — GHZ2AIA0t
A2l KRAI
N 6.020 (K22 A0 B
= 2,170 OFET SHEUYA
NEEEEEL] 8190 50.000] ~disio| =0 TE =%
NASE AR 20123 K 4,340| 50,000  ~45,660
(AIBI50%, HI50%)
Al 2,170
2 2,170
1HIES =223 X (AlLI100%) 3,850 0 3,850
Al 3,850
B ENEISE] 53.500|  84,752|  A31,252| OFEGE ZHEUIA 750-760
A 59.50) S Ehse 52 57
101 124 27,500] 25,000 2,500
Al 27,500
BIEEEIEEES 27,500] 25,000 2,500
DEEIET 27,500 25,000 2,500
Al 27,500
201 Yer2 | 1,000 2.000]  A1.000
Al 1,000
01 AL 22l 1,000 2,000 ~1,000
DAY 222 S R 1,000 2,000  A1,000
Al 1,000
307 21201 25000] 57,752 A32,752
Al 25,000
NIEEEEET] 25.000]  57.752| A% 72|0RAA A
2902 AN L
s ALBAY) 11,500 15,0000 A3,500| S5 del ol
Al 11,500 SIERAAII A17, 75081
DEPRET 13.500| 15,402  ~af,002| ZAMISHI 29,6008
Al 13,500
N ENEEEIE 40,000 0 40,000 0225 = 88| 22 | 761-762
Al 40,000 HEAROR M7
B
201 Yer2 | 4,000 0 4,000
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SN BB BR(B) - MBAY - BaS Ofl st She  |mms2| maER) AR | AR
N 7,000
01 ARzl 2,000 0| 4,000
E2EE X S(AIHI100%) 4,000 ol 4,000
Al 4,000
307 DIZH0I A 3,000 0| 36,000
Al 36,000
NEEEEED 36,000 0| 36,000
1)k 3= K12 (AILI100%) 36,000 0| 36,000
Al 36,000
INE AEXoHIE NANY 377,000 0| 377,000| OZotAS ATEOI M= | 763
201 Zer=gy] 2,000 o 20| o EE
01 Al zer| 2,000 ol 2,000
)22 82 H& S 2,000 ol 2,000
307 DI2H0I A 375,000 0| 375,000
NIEEEEED 375,000 0| 375,000
IREE T 375,000 0| 375,000
SHO|oF Ll XITArSI (KA 30,000 0| 30,000| OJIEAS (A2 E) 2 | 764-765
201 gereg| 3,000 0] so| IRmEO.
01 Azl 3.000 o 3.00| =2 '
EAE L 2123 M= S 2,000 o 2.00|C=ZAE &
) DIBA A29,900% 2
UIL 2 S50 X S 1,000 ol 1,000
203 Ze=XL| 600 0 600
EE S CEESE 600 0 600
1) AIRIR 2] =X 600 0 600
307 DI2H0I A 26,400 0| 26,400
NIEEEEED 26,400 0| 26,400
1)8tolot Liel 24| X 26,400 o| 26,400
(o, HXE, 2Al )
FHoDIE SANUIA = 6,438,185| 6,125,147 313,08
= .00 191,080
2 211,002 206,002
o 1643068 1,416,402
A 2330572 2,271,402
2 2,226,457 2,039,608
SARER SZHINAAIL 1,000,000] 1,000,000 0 766-767
Il 300,000 300,000
Al 350,000 350,000
2 350,000 350,000
308 XHXISHAIS 0/ & 1,000,000] 1,000,000 0
Il 300,000
Al 350,000
2 350,000
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MET

SH - - GRI(3) - HRARY Ofl kot Ao |HIRBZ| BB A ¢ryh
11 SIS0 U etE &S AEAIZYI 1,000,000 1,000,000
DNEAMEEX 2/=H| XA 1,000,000 1,000,000

(J1330%, AlHI35%, 2H135%)
7l 300,000
Al 350,000
- 350,000
Fotze] XRAXSE(Zore2a) 798,000 798,000 0 768-769
Jl 239,400 239,400
Al 279,300 279,300
7 279,300 279,300
201 e 3,000 3,000 0
Jl 900
Al 1,050
- 1,050
01 A2t 3,000 3,000
1212 TAIY 224 3,000 3,000
(71330%, AlH135%, 2H135%)
Jl 900
Al 1,050
- 1,050
308 AXIHHSOIA 795,000 795,000 0
Jl 238,500
Al 278,250
- 278,250
11 SISOt oHEAS A 795,000 795,000 0
=212 HEAIY 795,000 795,000 0
(21=230%, AlHI35%, H135%)
Jl 238,500
Al 278,250
- 278,250
S| ZH| Y Mot X (AERIZHIXIR) 568,500 568,500 0 770-771
(HEAIY)
Al 369,525 369,525
= 198,975 198,975
307 glztolA 568,500 568,500 0
Al 369,525
- 198,975
01 22X+ =Hl 568,500 568,500 0
1) et xe| 2 X2
(AIH165%, 7HI35%) 568,500
Al 369,525
- 198,975
2eAtel=Hl & Aoreael XA 20,000 20,000 0 772-773

(RHoreratel) (MEAr)
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S - "B EI(E) - HIRA - BaS 0l &b Gha  |wms2| maED) MR AR
A 15,000 75,000
2 5,000 5,000
307 21201 20,000 20,000 0
Al 15,000
2 5,000
NEEEEED 20,000 20,000 0
1) QLA 20§ AIBI75%, THI25%) 14,000 14,000
Al 10,500
= 3,500
1) LM ROH(AIBITS%, HI25%) 6,000 6,000
Al 4,500
2 1,500
HAAL=NAE 2o 1,105,062 950,512| 154,550 | OLRAIZ Brgo M= | 774775
bl 112,320 92,615 S
A 495,471 428,049
2 9o 429,848
201 LEr= o] 600 600 0
01 AF= el 600 600 0
s S 140 140
NAREE 20f 460 460
203 S| 1,200 1,200 0
03 NEEA2=AIL] 1,200 1,200
1)ZAST QBB YREx 1,200 1,200
307 21201 A 1,103,262 948,712| 154,550
Il 112,320 92,615
Al 495,471 428,049
- 495,471 428,048
CRECEE 1,103,262 948,712| 154,550
EAAZ=TIHE Q12| 795,302 718,682
(AIH150%, 2H150%)
Al 397,661
2 397,661
DEAALSTIME 2| 83,300 44,800
(AIHIS0%, THHI50%)
Al 41,650
= 41,650
FAAZ=TIHE 2124Y] 204,640 185,230
(21250%, AlHI25%, 2H125%)
Il 112,320
Al 56, 160
= 56, 160
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HET

A - FB - SIS - HTAR - BES ol ¢4 Ll |umsz| maED) Ms
S5 SUAASIAY 260,000 260,000 NEEIEPEEE
Il 130,002 130,000
Al 65.000|A 65,000
= 65.000|® 65,000
307 CI2I01@ 260,000 260,000 0
Il 130,000
Al 65,000
= 65,000
REHEEEE 260,000 260,000 0
)EAAYERME T2 2| 260,000 260,000
(21250%, AlBI25%, 7HI25%)
Il 130,000
Al 65,000
= 65,000
NS ET IS 36,000 3.000]  1,000] OLRAISY Breio @
= 18,000 17,500 S8
Al 9,000 8,750
= 9,000 8,750
307 o120/ 36,000 35,000] 1,000
= 18,000
Al 9,000
- 9,000
NIEEEEER 3,000 35,000] 1,000
)22 - smee, uh QR X2 36,000 35,000
(Z2H150%, AlBI25%, 7HI25%)
= 18,000
Al 9,000
2 9,000
HAS= 2ZEA SN 69,350 58,140| 11,210| O 24 338 =6 (10082)
307 2I2H01A 69,350 58,140 11,210 gﬁf%é‘;&ﬂﬁﬁa
NIEEEEER 69,350 5%, 140| 11.200| w= =0t
1)=54 29| 69,350 58, 140
KISAFBID I8 KAl AN 130,626 209,651| A79,025| OBIZISIEZ0]
=2 0 40,000 Aoy &
s 29,850 49.850 TIAOIAIR! 024 il
101 o124 90,000 90,000 0| Tt o= xsiiel
Al 90,000 PN KMZARIOR
04 JIHHI2 2RSS 90,000 90,000 0| =cl &g
1)ARAZEL I ZX 014U (AlHI100%) 90,000 90,000
Al 90,000
201 2Er2g] 2,476 31,501 975
Al 10,776
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HEE

HISA

FA - ZH - SRA(ZAH) - HIRAY - BES Ofl &K Glaron |HlnSZ| BA(EZ) AR | gwi
= 21,700
01 AFR 22l 10,776 9.801 975
10ISAE BRt ADE 70§ S(AIHI100%) 2,500 9,801
A 2,500
DXAOIZAIY S22 HX(AIHI100%) 3.475 2,500
A 3.475
)22 21B3! FI=H(AILI100%) 2,500 2,500
Al 2,500
1PSAMK L AREE 20§ S(AIHI00%) 2,301 2,301
Al 2,301
03 A2 21,700 21,700 0
1)MSXIZ0I IS LA X TIHHI S(PHI100%) 6.000 6,000
1MO4EDIE TSNS T2 2 2,000 2,000
(61 100%)
AZXIZ0lel & T2 2(2H/100%) 800 700
1)SI DB THHOIZARY A (1 100%) 10,800 9,000
1XIA0IY 2HE! 2 S0 22(HI100%) 2,100 0
203 ZLEL| 1,500 1,500 0
PR ESSEEESNT 1,500 1,500 0
1)MSXZ0| YLDE 22 2ESI(RH/100%) 500 500
1)XFAOI ALY 2235]9| (7] 100%) 500 500
1)MSOISHTI| AR 2rE8l(7HI100%) 500 500
07 L2 6.650 6.650 0
TERETEE 6.650 6.650 0
DXALZ2 I 2H S(7HI100%) 90 900
1)MXIZ0lolE SHHI S(7HI100%) 350 350
1) X0 ZARIZ2IXE ZSHI(RHI100%) 5,400 5,400
R0 L FAAASTAY 20,764 0| 20,764 OXI=AEIDIEE 783784
KHAHO| 2 AFRIOl A
! 10,82 NENEREEIR-F
A 5,191
2 5,191
307 2120/ 20,764 0] 20.764
| 10,382
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2N - B (B - HRAY - BAS 0 e She  |ums2| BaE) AR AP
A 5101
2 5,191
EECE= 20,764 0| 20,764
1B AABZTME TAUAR S|
(D1250%, AlB125%, 728125%) 20,764
ol 10,382
Al 5,191
2 5,191
FANAA=NHE GANLAY o K 3,176 0| 38,176 0=t — )12 =3 785
) 10,085 ORI A3l |8t
RHAL O AL Ol A
Al 9,544 HSA =2 By
2 9,544
307 120 38,176 0| 38,176
ol 19,088
Al 9,544
2 9,544
e 3,176 0| 38,176
1)RAAASTME TG 012 X2
(D1250%, AlB125%, 728125%) 38,176
ol 19,088
Al 9,544
2 9,544
& 2= NEAY 54,400 0| 54,400 OXIZIAIEIDIEF 786-787
) 27 200 RHAL Ol ZEARRS OfLAY
HEAR 22| B
Al 13,600 O22 BHI(67H2)
2 13,600 AL ZTOIA
5 42
307 B0 52,400 o sa0] B8 SLUINE)
/| 27,200 oAl S Z
Al 13,600
2 13,600
e 54,400 0| 54,400
NEAHLSNME GLSEXS AR 0124H]
(21250%, AlBI25%, T1HI25%)
48,400
ol 24,200
Al 2,100
2 2,100
DUASENAY S|
(21250%, AlBI25%, T1HI25%) 6,000
ol 3,000
Al 1,500
2 1,500
R0 ABOISHEI| A 10,000 10,000 0| ONS2EH| BA= DEA, | 788789
X 0,000 o|zEy|2 Eo
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MET

SA - B ERA(E) - MRAY - BES Ofl koY daor |HIRsZ| EA(EZ) AR | AR
307 212401 10,000 7,000 3,000
Al 10,000
01 A2 ZH 10,000 7,000 3,000
)RSEEAA, NAASLHIL - BAL 92, 10,000 7,000
BHA AG XE HIE X2 (AIHI100%)
Al 10,000
XNARES ABIAHIA EXAY 170,000 170,000 0[Ot ZS50%, Albl|790-791
(FARHZESAAHIA) 506014 2832 oS
= 85.000 85,000 @"/{;é\: ilzgfjftl 125%
Al 42,500 85,000
- 42,500
308 AHXIEHISOIE 170,000 170,000 0
s 85,000
Al 42,500
- 42,500
11 S| 2S0IU e & EAEAI| 170,000 170,000 0
NXSAKEE ALSIMHIAS XA 170,000 170,000
(BAAZELIHOIMEIA)
(ZS50%, AlH125%, 72H125%)
s 85,000
Al 42,500
- 42,500
FAAZA(MANRIRE 2 9,400 9,400 0 792
201 82| 8,400 8,400 0
01 At2tel| 8,400 8,400
Neds 29 ¢ 8,400 8,400
203 fR=&| 1,000 1,000 0
03 AIRF=RHR=AY| 1,000 1,000 0
NS & FAEAH PR=A 1,000 1,000
OS2 3 - 48 N2AE 4,500 4,500 0 793
Al 4,500 4,500
307 212t01& 4,500 4,500 0
Al 4,500
01 A =2H =] 4,500 4,500 0
oS ¥ Agg X2 (AIHI100%) 4,500 4,500
Al 4,500
Xojera ey 2 1,644,448 1,561,000 83,448 794-795
J| 799,724 780,000
Al 399,862 390,000
2 444,862 391,000
201 Zer=E| 44,000 0 44,000
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2A - BH . O9(3) - MBARY - BES 0l Ao Soe  |Hms2| BaED) MR | AEE
01 A 2re| 44,000 O 44,000] OXNOIA A 9the | 7%
1)XIONCFAIMIE] 21CHZ (2H]1100%) 43,500 0 A (5%) 0 HE
HE2oAY| SO
NUHE 2HLA 23 SIIHIE(7H100%) 500 0
203 22=A] 1,000 1,000
03 NEEAY 2= 1,000 1,000
1)XIOHZH2IALS) &R ZERIH|(H]100%) 1,000 1,000
307 D101 1,509,448 1,560,000| 29,448 OLIN® SrZol m=2| 7%
ol 799,724 %
A 399,862
2 309,862
CEHEES 1,509,448 1,560,000 39,448
1)XIDHQHAIMIES 2121t 1,039,500] 1,014,000 25,500
(21350%, AlHI25%, 2H125%)
o 519,750
A 250,875
2 259,875
1)XIHOIAIMIE] 22 2 At 550,948 546,000 13,048
(21350%, AlH125%, 2HI25%)
D) XIHQHAHIE 22| 279,974 273,000
(21250%, AlBI25%, 7HI25%)
o 139,987
Al 69,994
2 69,993
0) XIDHOFAIMIE| AFRIH 079,974 273,000
(21250% AlBI25%, 7HI25%)
o 139,987
Al 69,993
2 69,994
L EE DAL 200,000 164.000]  36,000| OLRAIZ Srol (= | 796-797
Al 130,000 106,600 S
2 70,000 57,400
308 KA CAISO0IA 200,000 164,000| 36,000
A 130,000
2 70,000
11 2o 2= 0 he Z A A SIS AT ] 200,000 164,000| 36,000
1) ZIHEI 2 2H2IHI K2 200,000 164,000| 36,000
(AlH165%, 2H135%)
Al 130,000
2 70,000
NENETEE P 36,675 29.000|  7.875| OLHAI® SIS0l (2| 79670
201 deregy] 12,875 9,000] 3875 =
01 Al 2] 12,875 9.000] 3,875
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S - B SRA(SH) - HRAY - B2

MET

Ol AtoH 7T S
DEEEENER 4,375 2,500 1,875
1USHAZLIAIY 212 2 D M= 400 400 0
greARlAY HA IR 2,400 2,400 0
NAIR2E 204 3,600 1,600 2,000
DEEEIMET] 600 600 0
DICEFES] 1,500 1,500 0
307 2I2H0|A 24,000 20,000 4,000
01 Q2L ZH| 24,000 20,000 4,000
1024 FAH 20K 19,200 19,200 0
1No2A2Z 204 4,800 800 0
A2t M ALY 10,000 7,160 2,840| OLHAI  BrA0l W2 | 800-801
= 5000 3 3,580 S
O=H| — ZE B
Al 1,500 Al 1,074
= 3,500 2,506
201 L2 A 3,000 1,160 1,840
= 1,500
Al 450
= 1,050
01 AlR2:2IH 3,000 1,160 1,840
1AL ZR KA RIZH 2 E50%, AlHI15%, 2H135%) 1,440 600 840
= 720
Al 216
= 504
1) B2 SH|(ZFE50%, AlHI15%, HI35%) 160 160 0
a 80
Al 24
= 56
1) Ol L& SH| (ZE50%, AlHI15%, 7HI35%) 400 400 0
= 200
Al 60
= 140
NAIR2E 20H(ZS50%, AlH115%, 72H135%) 1,000 0 1,000
= 500
Al 150
= 350
203 AR 5,000 5,000 0
= 2,500
Al 750
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SA - B SR(S3) - HFA - BAS Ofl b ﬁﬁoﬁ HREZ| BA(E2) A | GG
- 1,750
03 AMFAADFZH| 5,000 5,000
DARI2IE] & e8] 2% 5,000 5,000
(8§50%,A|H|15%,?~H|35%) 2 2,500
Al 750
7 1,750
307 2I2+01H 2,000 1,000] 1,000
7 1,000
Al 300
7 700
IEEEEET] 2,000 1,000] 1,000
DOIZARE T0H(ZS50%, AlbI15%, 72H135%) 2,000 1,000| 1,000
7 1,000
Al 300
7 700
Al - 10T JIBF (241 22| ALS 242,184 260,884| £18.200| O=t| — =S ¥ | 802805
NUEE ol Al PN
2 21,082 = 121,002 e J'M;l%l 2l
Al 36,328 Al 36,328 0|EAN [ 2ok
7 84,764 # 102,964
101 Q124 128,236 57.984|  70.252| C2d SIELI(EHE)
=X
= e o e )
Al 19,236 A R0 T2
7 44,882 QI S
04 JIIH22NER 128,236 57,984 70,252
1)JI2ERIIAHI (2 %OA,/\IHHS%,?HI%%) 128,236 57,984| 70,252
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